Toohing by

DIJET
¥ 1 & &

WEE R
AEBRQURME 0 e Fo02
OSVTRUME e F002
BYMRILMREE Fo03
YLROUI—IUE e F003
DIYIROULA—RIE e F004
LARREVAOUI—FUE s F004
OSVTROUL—EME s F004
LYFRIE e Fo04
OYEIEDHRUMIE e F005
BLOZRMELDRUIUE o F005
OSVTRYNRE e F005
OSVTRHE e F006
ISV TRUBEMHERIER] s F006
WX - JERE B S —BR (R Foo7
WEEMHNESHRR (R s Foos
WSIBHRExR 0 e F010
WiEcxwiEx 000000 e Fo11
BISWOTSYRHIREK FO12

001



Tooling by DIJET

BiEx . =*E*§
I:IBIIII:I
ARRUNE
N B & ¥ & EALYF
A B C D E a’
T h— ASW-113 48 [No10-32UNF| 127 | 48 | — | — AD-1845
€§ éﬂ ADS-513 78 | M5x05 | 130 | 50 | — | — AD-2080
&J ADS-514 56 | M5x05 | 145 | 65 | — | — AD-2080
5[ %@ﬁ ASW-513 90 | M5x05 | 130 | 50 | — | — AD-1845
C
95 7RUHIE
- ) ¥ & RS4T | #EENLY
i % L A B c D E a RPN ;ﬁ(ﬁm)
©1{F]
q| CB3540 90 | M35x06 | 63 | 23 | — | — | T15 2.1
Lc
CSW-1838 27 | M18x035 | 37 | 18 | — 55 T-6 0.25
CSW-206 35 | M25x045 | 50 | 24 | — 55 T-8 0.9
CSW-2542 30 | M25x045 | 42 | 25 | — 43 T7 0.9
CSW-2547 34 | M25x045 | 47 | 25 | — 43 T7 0.9
CSW-3570 55 | M35x06 | 7.0 | 35 | — 55 T-15 2.1
> CSW-3575 55 | M35x06 | 75 | 35 | — 55 T-15 2.1
@% 5 _,,“Et CSW-3595 55 | M35x06 | 95 | 35 — 55 T-15 2.1
Fp CSW-406H 50 | M4x07 | 60 | 36 | — 43 T-15 36
e CSW-407 50 | M4x07 | 70 | 36 | — 43 T-15 36
CSW-408H 50 | M4x07 | 80 | 36 | — 43 T-15 36
CSW-4510 6.6 | M45x075 | 100 | 40 | — 57 720 5.0
CSW-513H 70 | M5x08 | 130 | 44 | — 63 720 55
CSW-510 64 | M5x08 | 110 | 45 | — 43 720 55
CSW-515 70 | M5x08 | 150 | 50 | — 63 720 55
DSW-1840H | 25 | M1.8x0.35 | 40 | 20 | — 55 T-6 0.4
DSW-2045H | 30 | M2x04 | 45 | 23 | — 60 T7 0.5
DSW-2563H | 345 | M25x045 | 63 | 26 | — 55 T-8 1.1
DSW-306H 43 | M3x05 | 65 | 32 | — 55 110 1.8
DSW-307 43 | M3x05 | 75 | 28 | — 55 110 14
DSW-307H 43 | M3x05 | 76 | 32 | — 55 110 2.1
DSW-309H 43 | M3x05 | 90 | 32 | — 55 110 2.1
@ SsHED DSW-4075 52 | M4x07 | 75 | 35 | — 55 T-15 36
ol DSW-408 60 | M4x07 | 85 | 36 | — 55 T-15 36
c DSW-4085 53 | M4x07 | 85 | 35 | — 55 T-15 36
DSW-410H 53 | M4x07 | 100 | 37 | — 55 T-15 36
DSW-4510H | 6.8 | M45x075 | 100 | 47 | — 55 720 6.0
DSW-4512H | 6.8 | M45x0.75 | 125 | 52 | — 55 720 6.0
DSW-4515H | 6.8 | M45x075 | 155 | 52 | — 55 720 6.0
DSW-509 70 | M5x08 | 95 | 49 | — 55 720 6.1
DSW-511H 70 | M5x08 | 115 | 49 | — 55 720 6.1
ESW-206 36 | M25x045 | 60 | 20 | — 60 T-8 0.9
ESW-304 40 | M3x05 | 45 | 20 | — 55 T-8 14
ESW-306 40 | M3x05 | 60 | 20 | — 55 T-8 14
ESW-307 40 | M3x05 | 75 | 20 | — 55 T-8 14
ESW-405 53 | M4x07 | 59 | 27 | — 55 T-15 3.1
ESW-406 53 | M4x07 | 66 | 27 | — 55 T-15 3.1
ESW-408 53 | M4x07 | 80 | 27 | — 55 T-15 3.1
ESW-410 53 | M4x07 | 100 | 27 | — 55 T-15 3.1
ESW-412 53 | M4x07 | 120 | 27 | — 55 T-15 3.1




Tooling by DIJET

RS

93527 TRUHIE

s e . g & ST | HEENLY

iR VN & A = B = = p= tj»;rz ?E(ﬁ'_\m)
ESW-507 6.8 M5x0.8 7.5 3.4 — 55 T-25 5.5

@ ° %‘{E ESW-508 68 | M5<08 | 82 | 34 | — 5 | T25 5.5
Dc ESW-510 6.8 M5x0.8 10.0 3.4 — 55 T-25 55
FSW-2005H 2.5 M2x0.25 5.0 1.3 — 40 T-6 0.5

FSW-2506H 3.0 M2.5%0.35 6.6 1.5 — 40 T-7 0.9

FSW-3007H 3.8 M3x0.35 8.1 2.0 — 40 T-8 1.2

FSW-3509H 4.7 M3.5x0.6 9.6 2.3 — 40 T-10 2.0

FSW-4013H 5.8 M4x0.7 13.5 3.3 — 40 T-15 3.0

FSW-5016H 6.8 M5x%0.8 16.4 3.2 — 40 T-20 4.0

FSW-6020 8.5 M6x1.0 20.0 4.3 — 40 T-30 5.0

FSW-8025 11.0 M8x1.25 25.0 55 — 40 T-40 6.0

HSW-614H 10.0 M6x1.0 15.0 7.3 — 60 T-30 7.5

TSW-2250 3.1 M2.2x0.45 5.0 2.3 — 60 T-7 0.6

TSW-2556H 3.6 M2.5%0.45 5.6 2.7 — 60 T-8 1.1

TSW-2567H 3.6 M2.5x0.45 6.7 2.7 — 60 T-8 1.1

TSW-3509H 53 M3.5%0.6 9.0 45 — 60 T-15 3.0

TSW-3510H 53 M3.5%0.6 10.0 45 e 60 T-15 3.0

TSW-3512H 5.3 M3.5x0.6 11.5 45 — 60 T-15 3.0

TSW-408 55 M4x0.7 8.0 3.3 — 60 T-15 3.1

TSW-410H 53 M4x0.7 10.0 3.6 — 60 T-15 3.5

TSW-511 7.0 M5x0.8 11.0 5.0 — 60 T-20 5.5

TSW-612 8.5 M6x1.0 12.0 4.8 — 60 T-25 7.5

TSW-614H 8.5 M6x1.0 14.0 6.2 — 60 T-25 7.5

@B Djj $4513P 6.7 | M45x0.75 | 130 | 35 — 55 201P 5.0

e

Y bRV R

n . RIS RSAT |#EENLY
E % ¥ & A B c D E = H4Z | (N'm)
WHCS4-10
HEse 10 _ HCS4-10 70 | M4x07 | 140 | 40 | 30 | — — —
%E;;j’rﬂ
I HCS5-10 85 | M5x08 | 150 | 50 | 40 | — | — —
EHSB-10
HSB-10 170 | Mi0x15 | 560 | 100 | 80 | 13 — —
E HSB-12 180 | Mi2x1.75 | 620 | 120 | 100 | — — —
Y LRAIV1—R8
5 ’ & RSAT | #EENLY
id S & A B c D E E H4Z | (N'm)
SSW-535 63 | M5x05 | 70 | 31 | 35 | — — 6.5
SR
0]
c SSW-745 84 | M7x05 | 80 | 29 | 45 | — — 8.0




Tooling by DIJET

O g

Iy IRAIU1—RE

5 g ; ¥ & RSAT |#ENLY
ﬁ/ 1)( ﬂ/ E A B C D E F *j»f;(' (N'm)
LS-1 46 Mex1.0 | 220 | 85 | 85 | 30 — 6.0
LS-101 46 M6x10 | 160 | 65 | 65 | 3.0 — 6.0
LS-106 46 M6x1.0 | 145 | 65 | 50 | 3.0 — 6.0
LS-107 46 M6x10 | 130 | 50 | 50 | 3.0 — 6.0
LS-109 55 | M7x075 | 190 | 75 | 80 | — T-25 7.0
LS-110 48 | M6x075 | 220 | 80 | 80 | — 715 6.0
LS-180 6.0 M8x10 | 190 | 70 | 80 | — T7-27 8.0
LARKRI I ZAOVU1—F1g
e ’ g & RSAT | #EENLY
L E & A B c D E F H4Z | (N'-m)
xS < axY
é@ LS-113 37 |No.10-32UNF| 102 | 45 | 4.1 2.4 _ —
E
e
IS5 VTAOV1—Rg
. ., + & RSAT |ENLY
L2 i A B C D E F HBA4Z | (N'm)
ExD S| ArY
ﬁ LI —a SLS-3 60 | M8x1.0 | 200 | 80 | 80 | 40 — 8.0
P LHd
LoFiRg
B % W & R RS THAX
A B C D E
LW-015 465 14.0 — — 15 —
LW-020 52.0 15.0 — — 2.0 —
LW-025 59.5 18.0 — — 25 —
A LW-030 67.0 20.0 — — 3.0 —
o# LW-035 715 225 — — 35 —
o w LW-040 75.0 25.0 — — 40 —
LW-045 80.5 27.0 — — 45 —
LW-050 80.0 28.0 — — 5.0 —
LW-120 137.0 45.0 — — 12.0 —
LW-140 154.0 56.0 — — 14.0 —
D B
o 7\ H A-030 — 60.0 80.0 28.0 3.0 —
LL|
©
A-07SD 40 60.0 80.0 — — 77
g A-08SD 4.0 70.0 80.0 — — T-8
=) T ‘ A-10SD 4.0 70.0 95.0 — — T-10
c B A-20SD 5.0 90.0 105.0 — — 7-20
A-25SD 5.0 100.0 105.0 — — T-25
OB A-06 17 345 15.0 15.0 — 76
ﬁ%& A-07 20 345 15.0 15.9 — 77
O <<
l s A-08 23 39.0 19.0 19.0 — T8




Tooling by DIJET

RS

A BB Bl RSATHAZ
A B c D E
D B A-10 3.0 40.0 40.0 20.0 — T-10
. ol A-15 35 45.0 40.0 20.0 — 715
| \ / E A-20W 40 45.0 40.0 20.0 — 7-20
0 . A-15T 40 100.0 80.0 26.0 — T-15
A-20 40 100.0 100.0 32.0 — 720
//\ - A-20L 55 200.0 100.0 32.0 — 720
i S || A2 45 100.0 100.0 32.0 — T-25
' A-27 55 100.0 100.0 32.0 — T-27
o A-30 6.0 100.0 100.0 32.0 — 7-30
A-40 7.0 100.0 100.0 32.0 — T-40
AP-20 4.0 100.0 100.0 32.0 — 20IP
<
F—— AD-1845 18 45.0 — — — —
===————T | AD-2080 20 450 | 350 — — —
I ELLHRURE
5 ” ¥ & RSAT |#ENLY
E % ¥ & A B c D E E H4Z | (N'm)
LSM-512 — M5x10 | 126 | 10 | 30 | 25 — —
MLO R T ELIESHRURE
g ” ¥ & RSAT |#ENLY
i7 158 & A B c D E E HA4Z | (N'-m)
RSW-05008 — M5%0.8 8.0 — — — T-10 —
9507y MRIg
¢ . ¥ & RS1T
FiZNR7N B &
A B © D E F G RPN
F
- /
= o DCM-1 M5x08 | 138 | 138 | 6.8 2.0 8.5 25 —
w G
C
® @ DCM-5 Mex10 | 170 | 165 | 89 20 | 100 | 30 —
e
%
G > D@ DCM-17 M4.5x0.75 | 117 | 180 | 105 | 50 | 100 | — 7-20
C
miUH DCM-18 M35x06 | 100 | 130 | 76 | 30 | 72 | — | T15
A




Tooling by DIJET

RS

B % W B Rl
A B C D E F
=
ST -
o DCM-2 M8x1.0 10.0 19.0 1.0 6.0 135
e
A(EZRY)

95 TRURETERLER

e R e &

I“EE...WI MoLy




Tooling by DIJET

BirEE === =33
BN p@.rmemms—Emen
#3m TR
98 JISHRHERHT 2= 98 JISHERH 2=
ARSI ESA SM CxxxxP
= SRB ARURASDRRUSE Cx0PP
A [ —RmaRETE ss o CxoR
—REERREE SSC Cx0xBD
R EEsEREEERRROMESE | SAPH ARUMESE Cx0xBDS
SPCC, SPCT CxxxxBE
, AR O SPCD, SPCE IS LROT =P LEaD | AP
ﬁ%ﬁgg gEﬁE ssPPolfD RO AxxxPC
. , AxxxxBE
RHMEER NIRRT SPHE, SPHF Z’D[{E AxxxxBES
RERRAENE SGP S | PVSSOLRUTLSIOLAED | AoxBD
A S - BAZiRzs AR RmEE STB FILS | BRUR AxxxxBDS
BEAZASSAMEENE STH lyyN AxxxxW
— BB e EEE STK E‘% : AXOXWS
BB SRR RBEE STKM FIS=OLROTIVS =D LASBERA | A0S
SERA S EEE SCTK, SCM-TK N e e cemen | AXKKFD
HE | WBSAAT YL AEAE SUS-TK 7WE=OLROTIS=0LERRER |,y
—REERATAE STKR IR ORI LERIR MP
RERACSHES STPA SRR v TRxUDLERE MB
EARERRRREE STPG —or Il | o LRO =y L ae RO % NCuP
SRRERRREEE STPT WH [ Zur LRUC v ILERE NCUB
BERERREEEE STS F5 R TBxxH
REAZT YL ANEE SUS-TP mig | T OYRUFIVERE TBXC
TS P ST SxxC, SXxCK AROREZEY CACOXX
@i | PIE=OLOOLEUIFVMEN | SACM S ) CACX0XC
s SCM, SCr TS LEEEY ACXX
Bl | wimsmasmEy SNC, SNCM gy | ORVOLERHY MCx
SMn, SMnC ’ BIRASY A AR ZDCx
I | BRLEmEY SK FIE=OLBRIA AR ADCx
B |asTamET SKS, SKD, SKT RIRIILERIANAN MDCx
B mmETamE SKH RIARXZ )L Wox
., | RERUTEEAREIERANT SUM
75 | mRmonLuEEET suJ
587 enmmy SUP
B 2| 2roLzEn SUS-B
2|87 | MMEER T L AMERUES SUS-HP SUSHs
Y T ARMEERT VL A BIRR O SEE SUS-CP, SUS-CS
o | SUH-B, SUH-CB
B | WRER SUR-HP, SUR-CP
2 | ennessE NCF-B
Z | MEmmEasR NCF-P
RRERE SF
BE | SOLEUTTRBES SFCM
—or IV IOLEY T T B SFNCM
RTHBEHE FC
FRRESS T FCD
ok FCMB
TBHEBR FCMW
FCMP
RREEW SC
BEREEIRRERVESSEBES | SCC
g | 2T YUARAER SCS
Lk SCH
BV ESES SCMnH
EESERGES SCPH




Tooling by DIJET

Bilrast =
B omunssiEs an)
EASE Ak R4 EWBERY YAV RUY V1Y o0 L HR

B4 USA R SRS USA KA

JIS AISI/SAE W.-nr DIN JIS AISI/SAE W.-nr DIN

S10C 1010 1.0301 Cc10 SMn420 1522 — —

S15C 1015 1.0401 c15 SMn433 1536 — —

S20C 1020 1.0402 c22 SMn438 1541 — —

S25C 1025 1.0406 Cc25 SMn443 1541 — —

S30C 1030 1.0528 C30 SMnC420 — — —

S35C 1035 1.0501 c35 SMnC443 — — —

S40C 1040 1.0511 c40

S45C 1045 1.0503 c45

S50C 1049 1.0540 C50 REIRMRH

S58C 1060 1.0601 C58 SK1 W1-13 — —

SK2 W1-11 1/2 — —

— SK3 W1-10 1.1545 C105W1
—w& b0 LM SKa W19 — —

JIS AISI/SAE W.-nr DIN SK5 W1-8 1.1525 CcC80W1
SNC236 3135 1.5710 36NiCr6 SK6 W1-7 1.1525 C80W1
SNC415 3415 1.5732 14NiCr10 SK7 — 1.1620 C70W2
SNC631 — — —

SNC815 3310 1.5752 14NiCr14 E&EIE%&MM
SNC836 — — —
Jis AISI/SAE W.-nr DIN
— e SKH2 T1 — —
—wrIboaLEVIT VMM SKH3 T4 — —

JIS AISI/SAE W.-nr DIN SKH10 T15 _ _
SNCM220 8620 1.6523 | 21NiCrMo2 SKH51 M2 1.3343 $6-5-2
SNCM240 8640 1.6546 |40NiCrMo22 SKH52 M3-1 — —
SNCM415 — — — SKH53 M3-2 1.3344 S6-5-3
SNCM420 4320 — — SKH54 M4 — —
SNCM439 4340 1.6582 | 35CrNiMo6 SKH56 M36 — —
SNCM447 — — —

SNCM6SO | — - - a2 TN
SNCM815 — — —
Jis AISI/SAE W.-nr DIN
SKS11 F2 — —
20 LR+ SKS51 6 — —

JIS AISI/SAE W.-nr DIN SKS43 W2-9 1/2 _ _
SCr415 5015 1.7015 15Cr3 SKS44 W2-8 1/2 — —
SCr420 5120 1.7020 20Cr4 SKD1 D3 1.2080 X210Cr12
SCr430 5130 1.7033 34Cr4 SKD11 D2 1.2379 | X100CrMoVv5
SCr435 5132 1.7034 37Cr4 SKD12 A2 1.2363  X100CrMoV5 1
SCra40 5140 1.7045 42Cr4 SKD2 — 1.2436 | X210CrwW12
SCr445 5147 — — SKD5 H21 1.2581 X30WCrvo

SKD61 H13 1.2344 | X40CrMoV5
I0LEVIT T VMM

Jis AISI/SAE W.-nr DIN
SCM415 — 1.7262 15CrMo5 Jis AISI/ASTM W.-nr DIN
SCM420 — — — SUS405 AISI 405 1.4724 X6CrAl13
SCM430 4130 1.7218 25CrMo4 SUS429 AISI 429 — —
SCM435 4137 1.7220 34CrMo4 SUS430 AISI 430 1.4742 X6Cr17
SCM440 4140 1.7223 41CrMo4 SUS430F | AISI 430F 1.4104 |X12CrMoS17
SCM445 4145 — — SUS434 AISI 434 — —




Tooling by DIJET

SEMERSHEE G5
THEAA TS5 %)
B USA

R B USA 54
JIs AISI/ASTM W.-nr DIN JIs AISI/ASTM W.-nr DIN
SUS403 AISI 403 — — SUH21 — — CrAl1205
SUS410 AISI 410 1.4006 X10Cr13 SUH409 AISI 409 1.4512 X6CrTi12
SUS416 AISI 416 — — SUH446 AISI 446 — —

SUS42041 AISI 420 1.4034 X20Cr13

SUS431 AISI 431 1.4057 | X20CrNi172 THFAERA 1L 7> 91 bR

SUS440A AIS| 440A — — JIS AISI/ASTM W.-nr DIN
SUS440B | AISI 440B — — SUH1 — — —
SUS440C | AISI 440C — — SUH3 — — —
SUH4 — — —
ZFYUVAM 4—27F1 MF) S o R T TR TR — -
Jis AISI/ASTM W.-nr DIN
SUS201 AISI 201 — — " =
SUS202 | AISI 202 — — LRzl
SUS301 AISI 301 _ _ JIS AISI/SAE W.-nr DIN
SUS302 AISI 302 — — FC100 20 0.6010 GG 10
SUS302B | AISI 302B — — FC150 25 0.6015 GG 15
SUS303 AISI 303 1.4305 |[X10CrNiS189 FC200 30 0.6020 GG 20
SUS303Se | AlSI 303Se — — FC250 35 0.6025 GG 25
SUS304 AISI 304 1.4301 | X5CrNi1810 FC300 40 0.6030 GG 30
SUS304L | AISI 304L 1.4306 | X2CrNi1911 FC350 50 0.6035 GG 35
SUS304NI | AISI 304N — —
SUS305 AISI 305 1.4303 | X5CrNi1812 e =
SUS308 | AISI 308 — — ERIA R IR i
SUS309S AISI 309S _ . JIS AISI/SAE W.-nr DIN
SUS310S AISI 310S _ — FCD400 60-40-18 0.7040 GGG 40
SUS316 AISI 316 1.4401  |X5CNiMo17122 FCD450 60-40-8 0.7045 GGG 45
SUS316L | AISI 316L — X2CrNiMo17132 FCD500 65-45-12 0.7050 GGG 50
SUS316N | AISI 316N 1.4404 _ FCD600 80-55-06 0.7060 GGG 60
SUS317 AISI 317 1.4438  |X2CNiMo18164 FCD700 | 100-70-03 0.7070 GGG 70
SUS317L | AISI317L 1.4438  |X2CrNiMo18164
SUS321 AIS| 321 — —
sSUS347 AIS| 347 1.4550 | X6CNiNb1810
SUS384 AIS| 384 — —
Jis AISI/ASTM W.-nr DIN
SUH31 — — —
SUH35 — — —
SUH36 — — —
SUH37 — — —
SUH38 — — —
SUH309 AISI 309 — —
SUH310 AISI 310 1.4845 CrNi2520

SUH330 AISI 330 — —




Tooling by DIJET

S|$fﬁj§§§ WEASIEBEADRERS  (SHEN KTy &o5m)

[C1DOBEHFHSIIC KD ESIL

N kef dyn
1 1.019 72x10™ 1x10°
9.806 65 1 9.806 65X 10°
1X107° 1.019 72x10° 1
77w ] 1Pa=1N/m? 1MPa=1N/mm?
PaX([&N/ma2 MPaX[&N/mmz2 kef/mmga kef/cme kgf/m2
1 1x10° 1.01972x107 1.01972x107° 1.01972%10™"
1x10° 1 1.019 72x10™ 1.019 72x10 1.019 72%10°
9.806 65x10° 9.806 65 1 1X10° 1x10°
9.806 65x10* 9.806 65x107? 1x107° 1 1x10*
9.806 65 9.806 65x10°° 1x10°° 1x10™ 1
Eh 1Pa=1N/m*
Pa kPa Mpa bar kef/cme
1 1x107° 1x107° 1x10° 1.01972x107°
1x10° 1 1x107° 1x107° 1.019 72x107
1x10° 1x10° 1 1x10 1.019 72X 10
1X10° 1X10° 1x10" 1 1.01972
9.806 65% 10* 9.806 65x10 9.806 65%x 107 9.806 65% 107" 1

15 - IRIVF— - BE

1J=1W s, 1J=1N-m

J

kW - h

kef - m

kecal

1

2777 78x107

1.019 72x10™

2.388 89x10™*

3.600 00x10°

1

3.670 98%x10°

8.600 00x10?

9.806 65

2724 07x10°

1

2.34270x10°°

4.186 05X%10°

1.162 79x10°°

4.268 58%x10°

1

1R (T2E - §1hH) - Bin 1W=1J/s, PS: B
W kw kef - m/s PS kcal/h
1 1x10° 1.019 72x10™ 1.359 62x10° 8.600 00X10™"
1x10° 1 1.019 72x10° 1.359 62 8.600 00x 10?
9.806 65 9.806 65x10°° 1 1.333 33x107° 8.433 71

7.355% 102 7.355%x10™" 7.5%X10 1 6.325 29x 102
1.162 79 1.162 79%x10°° 1.18572%x10™" 1.580 95%10° 1
Jus- ) SR
J/ (kg - K) kcal/(kg-C), cal/(g:C) W/(m - K) kecal/(h - m - C)
1 2.388 89x10™* 1 8.600 00%x 107"
4.186 05%10° 1 1.162 79 1
ElERER
min~' s™! r.p.m.
1 0.0167 1
60 1 60




Tooling by DIJET

B s
AoEyh—RES (T BiELINIRE(E
£ | JuzUEex D) B | JuzUEex D)
v 108 OvoHT)ViE 3 v 105k OvoYTIVES 3
7| #E3000kef 7| sgmax | | 7 |EE3000kef 7 | s
2 | ® [55 | Azo—Ib [ BAr—IL | CAo—b | B | GELUE) 2 | & 520 Axr—b [BRo—IL | cay— | % | GEMIE)
® |, |A7|W@ESOkef|@E100kef WEIS0kef| = | MPa B | 4 |A7>|WEEOKef |7 )00kef| HE150kef W1
= A% | SVENEE | B16  |SPEUNTE (kef/2) & H—IX| SPENEE | B16  |SOPEUNE (kef/?)
®O|ARR | EF (/160 EF B |48 | EF |(0/160H| ET

HV HB | HRA HRB HRC | HS HV HB | HRA HRB HRC | HS
19000 - | - | 931 - 805 | - - 4201397 | 397 | 71.8 - 42.7 | 57 |1370 (140)
1800 - - 92.6 - 79.2 - - 410| 388 | 388 714 - 418 — |1330 (136)
17000 - | - | 919 - 779 | - - 400|379 | 379 | 70.8 - 40.8 |55 1290 (131)
16000 - | - | 913 - 766 | - 390| 369 | 369 | 70.3 - 39.8 | — 1240 (127)
15000 - | - | 905 - 753 | - - 380| 360 | 360 | 69.8 | (110.0) | 38.8 |52 1205 (123)
14500 - | - | 9041 - 746 | - - 370| 350 | 350 | 69.2 - 37.7 | - [1170 (120)
14000 - | - | 896 - 740 | - - 360| 341 | 341 | 687 | (119.0) | 36.6 |50 [1130(115)
1350 - | - | 891 - 734 | - - 350| 331 | 331 | 68.1 - 355 | — |1095 (112)
13000 - | - | 887 - 72.7 - 340|322 | 322 | 67.6 | (108.0) | 344 |47 1070 (109)
12500 - | - | 883 - 721 | - - 330|313 | 313 | 67.0 - 333 | - |1035(105)
12000 - | - | 879 - 715 | - - 320|303 | 303 | 66.4 | (107.0) | 32.2 | 45 (1005 (103)
1150 - - 875 - 70.9 - 310| 294 | 294 65.8 - 31.0 - 1980 (100)
11000 - | - | 8741 - 703 | - - 300|284 | 284 | 652 | (105.5) | 29.8 |42 | 950(97)
1050, - | - | 866 - 69.6 | - - 295|280 | 280 | 64.8 - 29.2 | - | 935(96)
10000 - | - | 862 - 689 | - - 290| 275 | 275 | 645 | (104.5) | 285 |41 | 915(94)
940/ - | - | 856 - 68.0 |97 - 285|270 | 270 | 64.2 - 27.8 | - | 905(92)
920 - | - | 853 - 675 | 96 - 280|265 | 265 | 63.8 | (103.5) | 27.1 |40 | 890 (91)
90| - | - | 850 - 67.0 |95 - 275|261 | 261 | 635 - 26.4 | - | 875(89)
880 - |(767)| 84.7 - 66.4 | 93 - 270| 256 | 256 63.1 (102.0) | 25.6 |38 | 855(87)
860| - |(757)| 84.4 - 65.9 |92 - 265| 252 | 252 | 62.7 - 248 | — | 840(86)
840 - |(745)| 841 - 65.3 | 91 - 260| 247 | 247 62.4 | (101.0) | 24.0 |37 | 825(84)
820 (733)| 83.8 - 64.7 | 90 - 255| 243 | 243 | 62.0 - 231 | - | 805(82)
800| - |(722)| 83.4 - 64.0 | 88 - 250| 238 | 238 | 61.6 | 99.5 222 | 36| 795 (81)
780 - |(710)| 83.0 - 63.3 | 87 - 245| 233 | 233 61.2 - 21.3 - | 780 (79)
760| - |(698)| 82.6 - 62.5 | 86 - 240| 228 | 228 | 60.7 98.1 20.3 | 34| 765 (78)
740| - |(684)| 82.2 - 61.8 |84 - 230| 219 | 219 - 96.7 | (18.0) | 33| 730 (75)
720| - |(670)| 81.8 - 61.0 |83 - 220| 209 | 209 - 95.0 | (15.7) | 32| 695 (71)
700 - |(656)| 81.3 - 60.1 81 - 210| 200 | 200 - 934 (13.4) | 30 | 670 (68)
690| - |(647)| 81.1 - 59.7 | - - 200| 190 | 190 - 915 | (11.0) | 29 | 635 (65)
680| - |(638)| 80.8 - 59.2 |80 - 190] 181 | 181 - 89.5 (8.5) |28 | 605 (62)
670 - | 630 80.6 - 58.8 - - 180] 171 | 171 - 87.1 (6.0) |26 | 580 (59)
660 - | 620 80.3 - 58.3 |79 - 170| 162 | 162 - 85.0 (3.0) |25 | 545 (56)
650 - | 611 | 80.0 - 578 | - - 160| 152 | 152 - 81.7 (0.0) |24 | 515(53)
640| - | 601 | 79.8 - 573 |77 - 150| 143 | 143 - 78.7 - 22 | 490 (50)
630| - | 591 79.5 - 56.8 - - 140] 133 | 133 - 75.0 - 21 | 455 (46)
620 — | 582 | 792 - 56.3 | 75 - 130| 124 | 124 - 712 - 20 | 425 (44)
610 - | 573 78.6 - 55.7 - - 120| 114 | 114 - 66.7 390 (40)
600| - | 564 | 789 - 55.2 | 74 - 110] 105 | 105 - 62.3
590| — | 554 | 784 - 547 | — |2055(210)| |100| 95 | 95 - 56.2
580| - | 545 78.0 - 541 72 2020 (206) 95| 90 | 90 - 52.0
570/ - | 535 | 7738 - 53.6 | — (1985 (202)] |90 | 86 | 86 - 48.0
560| — | 525 | 77.4 - 53.0 | 711950 (199)| |85 | 81 | 81 - 41.0
550|(505)| 517 | 77.0 - 52.3 | — 1905 (194)
540((496)| 507 | 76.7 - 51.7 | 69 |1860 (190) 1. ZOFEE SN R T v LB b D Th B,
530((488)| 497 | 76.4 - 511 | - |1825(186) 532, 1MPa=1N/mm

3. = () RBERSEIEVSNEVEEEDSD THY)
5201(480)| 498 76.1 - 50.5 | 67 1795 (183) SZELTRLEEDBDTHS,
5101 (473)| 479 75.7 - 49.8 - 1750 (179)
5001 (465)| 471 | 75.3 - 491 | 66 |1750 (174)
490 (456)| 460 749 - 48.4 - [1660 (169)
480| 448 | 452 745 - 47.7 | 64 1620 (165)
470| 441 | 442 | 741 - 46.9 | - |1570 (160)
460| 433 | 433 73.6 - 46.1 62 {1530 (156)
450| 425 | 425 | 733 - 453 | — 1495 (153)
440| 415 | 415 | 72.8 - 445 | 59 |1460 (149)
430| 405 | 405 | 723 - 436 | — |1410 (144)




Tooling by DIJET

SRDT S RiER

bk iz b

SPMX4N

0 o ] LLiE5 KE B o - Oy 0 =
1] =
Par] JISHEZ |AISIHEH|| ZX1%EHE HERE RS e EEEEs HiERE ATH Tl K—3
WRIEH| SK105 W1-10 QK3 YK3 K990
SKS93 SK301 QK3M YK30 K3M YCS3
SKS3 SKS3 QKS3 GOA KS3 SGT ARNE K460
SKD1 D3 DC1 KD1 CRD SVERKER3 | K100.K107
SKD11 D2 SKD11 Qcti DC11 KD11 SSLLDD-i CDS11 | SVERKER21 | K105.K110
KD11MAX
G
SKD11 (%) KD11S
AUD15 acm7 SLD8
0,
8%Cr&k AUD11 QCMS DC53 KD21 SLD10 MDS9 SLEIPNER K340
g | 2 yIRFR CALDIE
% Pty SXACE DCMX NOGA ARK1 UNIMAX W360
fﬁ SKD12 A2 DC12 KD12 RIGOR K305
TIN—K>
ARG GO40F KAP65 | HPM-MAGIC IMPAXHH
TN | SX105V QF3 GO5 KRCX HMD5 FERMO
K872 4548 GO4 KSM ACD37
i E 55 QFt GS5 KTV5 YSM
CALMAX
ELMAX K390
ZDft SLD-MAGIC ICS22 | VANCRON40 K490
VANADIS4E K890
VANADIS10
SKH51 M2 QH51 MH51 H51 YXM1 SKH9 $600
SKH51% SKHID
HM35
SKH55% HM35 YXM4 HS53M $705
=
R HS93R
% | SKHS7R MV10 XVC5 DURO-SP 5700
T
=
] DURO-FZ
ggm; KNIXT YXR3 gﬂﬁg'g
EQUPZZE QHZ KMX2 YXR7 )
DRM3 KX VXR33 DURO-F7
MH85 DURO-V2
DURO-V5
SKH40 SPM30 DEX40 HAP40 FAX38 | VANADIS30 $590
g | TMUYIAR ggim; HAPSR
S
=
E | som SPRS DEX20 HAPSO FAX40 | VANADIS23 $390
Ei SPMVG DEX60 HAPT2 FAX55 | VANADIS60 $690
FAXG2 5790




Tooling by DIJET

B IS~ )R
- TEHRDITS/RER
7))
SERETENR
" o wm PN B% N _ HyF o
o¥E JISHHZ |AISIHEH RS e S HiIgRE ATE YA h—3
SKH2 T Ho YHX2 SKH2 $200
E4
g. SKH3 T4 H3 SKH3 $305
A
4
7, |sk4 T5 Ha SKH4
%
SKH10 T15 HV5
$600
SKH51 M2 QH51 MH51 H51 XM SKH9 S614
S401
SKH52 M3-1 H52 HM31
SKH53 M3-2 HVA $607
SKH54 M4 Hv2 HM4
SKH55 HM35 YXM4 HM35 5705
5
Y |skHss M36 HM36 HM36
7
% |SKH57 HV10 XVC5 HS93R $700
SKH58 M7 HM3 HM7NN $400
SKH59 M42 HM42 YXM42 HM42 $500
HS53M
HS97R
HII1
20t $70 xmgg HMT12
HM33
SKHID
DURO-SP
< DURO-FZ
b oA KMX1 YXR3 Bﬂggzg
PRI & QHZ KMX2 YXR33 W360
5 DRM3 G e DURO-F7
2 MH85 DURO-V2
* DURO-V5
SKH40 SPM30 DEX40 HAP40 FAX38 VANADIS30 $590
) SPM23
Q ety DEX20 HAP10 FAX31 $290
2 om PG DEX60 HAP50 FAX40 VANADIS23 $390
i DEX-M1 HAP72 FAX55 VANADIS60 $690
Souan DEX-M3 HAPSR FAXG2 5790

F) CORIF HEHIEA AR @R thETR] (20178 38E]) KWRRLIZBDT,




Tooling by DIJET

= 'S R ERER
TERDTS > R3FlE
TSAFvIEHRAN
e | JiS | AISI|| =4 JE | WB | xm | BE | gy — SyF | o o
AR HRe) e | || mm | 2Fou | L | wmm | B | e | TR g | ™7
KPM
13 | SCX% | 1055 JFE-MD1 | PCS55 <P
JFE-MD3
28 |SCMZ| 4140 FEMD PDS3
M200
?acﬁ“g' P20 POM30 | pino) | KPMSO | HPMY M201
M238
33 S-STAR PROVA-400 M303
SUSZ| 420 Rl GHX | HPM3g | ol | STAVAX | e
7 SUSR .
;U\ (1) G-STAR HPM77 RoyAlloy | M315
|
E | 35 |SUSK|sim QSH6 | NAK101 U630 PSL CORRAX | N700
i 36 |SCM@E0| P20 JHX IMPAXHH
SUSZ EDRO400 | M303HH
Ség? H13 DH2F KAP9OF | FDAC
o P21 PCM40S | NAK8O | KAP88 | HPM-PRO 461
P21
20| (FH) PCM40 | NAKSS | KAPE5 | HPMI M261
P21 CENA1
(fr48) CENA-V
HPN-MAGIC NIMAX
RIGOR
acms K105
60 |SKOT11 po || aupi11 SPMR8 | PD613 | NOGA | LPM3i SLEIPNER | 44g
(&) #5) ZCo-M CALDIE | a4
CALMAX
15t
;1\ M340
i SUSK QPD5 4400 M390
R | 57 |00 54004 SPC5 | SUSA40C | SUSA40C | SUS440C | PROVA-S00 | ELMAX | N685
L (#9) ¥R N690
i NG9S
S-STAR HPM38 STAVAX
52 Sﬂgf D-STAR GHX | HPM38S Eggmgg POLMAX mg;g
G-STAR HPM77 MIRRAX
VI V720
B s amM300 | MASTC KNS YAG | EXEO-M21 ks
0
% Z 0t CORRAX
e .
40 ﬁ% NMST | HPM75




Tooling by DIJET

R ISR
- TEHRDITS/RER
7))
RSB
w oy ] LLIFS KE BA . — — Iy . =
RS _ = = =z =
o¥E JISTHZ |AISIHEH|| Z4058m EREE | RN | SEREe HiI£E | A | ==280 LA h—>
SKD4 DH4 KD4
SKD5 Ho1 DH5 KD5
SKD6 H11 DH6 KD6 VIDAR mgg
DHA
SKD61 H13 || skpe1 | QD DHAT KDA DAC ORVAR-2M | W302
QDA6T | DHA? DAC-S
QDN DH21 KDAT DAC3 ORVAR-S
SKDG1 (%) AQJUDDB?A QDX- | DHAWORLD | KDA1S | DAC10 DIEVAR mgg
HARMOTEX| DH31-S | KDAMAX | DAC55 FORMVAR
QDN1-R | DH31-EX DAC-MAGIC
SKDG1 (1) DH2F | KAP9OF | FDAC
Py
2 |skoe2 H12 QD62 DH62 KDB
I
5 |SKD7 H10 DH72 KDH1 W320
&
DH32
SKD7 () AUD72 | QDH | DH71 DACHD | DURO-Nf
DH73
SKD8 H19 DH41 KDF
SKD8 (%) DH42 KDF4 | MDC-K
SKT4 L6 skTan |, AT41- GFA KTV oM ALVAR14 | W500
HARMOTEX
SKT4 () ot GF78 D3
AUDO1
B4 NP DHT6 HD228
BURE
ZDAth QF5 DHA-Thermo BALDER
%E TRy ZF QHZ DRM KMxi | Yxmss | DURO-FZ W360
G2 * DRM2 DURO-F1

E) CORIE FAMAA R @) 45Tk (20179 38ME]) KURBLICHDTY,






